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= No. of r‘o_otsemergedog different concentration : - Paper-BT—201
- ' of cytokinin ' Blostatlsncs
Replicates 8 - @ Fij D
1 1. 2 3 5 T ime allowed : 3 haurs 7 [ Maximum marks : 40
2 2 3 3 4 |
3 1 _3" 4 5 Note : Question No. 1 is compulsory. All guestions carry
4 0 4 3 4 equal marks. Attempt any four questions selecting
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af least one from each unit.

ApplyAnovato testwhethcrthe d.lffer,,nt concentration - _ N
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‘have any effect on root emergence.
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ST R T e S B IgU W whwer fear | 1. (@ Let f(x)=2x*+ Sx 2

Wﬁaﬁ qﬁu"i & ﬁi P —— GIT&?f Y W‘f o ‘ Check whether function is even or odd 7
st | 0 3 10 15 _ _ {b) Differentiate sin VX wrt x

1 1. 2 3 T3 - - (¢) ExplainError I and Error I1. 2
2 | 2 3 3 4 ' - _ _ I(d) Null Hypothesis andAItemameHypuﬂ)esw |

3 | 1 3 4 5. - i (¢) - Primary data and secondary data. ' !
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‘ | ‘ (M) gﬁ'lﬁmgﬁnqﬂmﬂ?ﬁm 2

- (R@ TR F,, (3,16)=5.13) o |
91547 o  91547-P-8-Q-9 (13) . [PTO.

J%/ ~.




N (2) 91547 | | (1) 91547

o

®

(b)

(c)
(%)

(@)

(™

(b)

91547

S TR T SR R ® 1
afaes gEw e A wew | 1
Unit-I
FR-1
Solve the equation 9x* + 6x*— 1 =0 by Cardan’s
rule. | ' _ | 3
Evaluate using logarithm _
3416 + 0.8815 - 235
Find the coefficient of ¥* in (2x + y)S 2.5
BT 9% + 6% — 1 = 0 Y #1393 W =07 &
I | 3
3416 + 0.8815 25
@xtyf Aymplwam e 25

3 -5
If A= A?-5A-14]
~4 2

where [ is a unit matrix, : 4

Provethﬁt
1+sinB o _
=sec ¢ +tan §

Y1-sin®

aelgniﬁcant association between hypércholés-
teromelia and high blood pressure (.= 0.05). 6
(b) Write down the formulae
(i) Mode
(i) S.D. usthg step deviation method
(ili) ZtestandS.E.
(iv)_ Moment of skewness and Kiirtosis'. 2
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(iii) Z-Thw @ S.E. L
'--_-(iv) [ aq e e 0 2
9. In an Experiment différex_lt concentration of plant
cytokinin were applied on the leaves and emergence
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(@) FEFT HRT 'P
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" f(x) x3' 6x3+9x+7
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(@) Evaluate . f.(x-!»e)z" dx

(b) Solve the differential equation

d—y—t + 2.5
s an x X _

(c) Letfbea ﬁmcﬂon'dcfincd* by the rule
fx)=4+3x-3
find f(2) and f(f(l)) - 2.5

(F)' TEiHT BT I(X+€)2x

(@ T adiem & ' A

d
a-x-— tan x+x _ . 2.5
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| Iog ,.Jx+ x® g & A {’2.5
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TR
Calculate arithmatic mean, median and mode from the
data given below : ' . 8

Varable = 10 20 30 40 50 60

Iess than

Frequency 4 20 35°55 62 &7
M Ru T waw | P e, it qwr ages 9 oo
it - | | 8

qftge 10 20 30 40 50 60

R

sm@Rr 4 20 35 55 62 67

(a) It is given that 3% of the Electric bulbs
manufactured by a company are defective. Using
the Poisson distribution, find the probability that
a sample of 100 bulbs will contain (i) No defective
(i1) Exactly one defective

(Given : €73 = 0.04979) 4
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‘One ship out of 10 was sunk on @ average in
- making certain voyage, find the probabxhty that out

of 5 ships 4 would arrive safely. 3

Define Median and arithmetic mearn. ' 1
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T i 1 100 Tt & O Praet # (i) wr St
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In Rohtak General Hospital, out of 55
hypercholesterolemic cases; 25 suffer from high
blood pressure, while out of' 45 cases with normal

serum cholesterol 15 are of high blood pressure,
use Chi square test to ﬁnd whethcr or notthere is -

R
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(Er mqﬁﬁqﬁa 1+S'm9 = +1
_ ) & I-sin® sec d an¢
- Unit-II
Ry
' . sin3x-sinx .
(a) Evaluate Lim M- 2.5
o 1—+0 sin X : :
(b) . Differentiate |
x-1 . - |
log Wlth respec! 13 X 2.5
x+1 - '
(e) Fmd the points of local maximum and local
minimum of function f(x) where
fX)=x"-63+9x+7 -
Also find local maximum and local minimum
o vales. C3
' _ . sin3x-sinx .
® % & L : .
- (®) T s Lim Sin 2.5
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